





Notes for Question 7 Continued

(i)
M1: See scheme
Note: | Alternative strategy: Expresses 5SiN@—5C0S0 =2 in the form RC0S(0+a)=-2,
finds both R and «, and proceeds to cos(€+ ) =K, |k| <1, k=0
M1: Either
e uses RsSIN(@—-a) to find the values of both R and «
e attempts to apply (5sin@—5c0s6)? =22, uses 0s*@+sin° @ =1 and proceeds to find an
equation of the form T4t usin20 =+ or tusin20 == f; u+0
e attempts to apply (5siné)? = (2+5c0sd)’ or (5sind—2)* = (5¢c0sH)° and
uses C0s” @+5sin*H=1 to form an equation in cos@ only or sin@ only
. 2 2 . 21
Al: For sin(@ —45°) =——, o.e., cos(€+45°)=———, o0.e. Or Sin20=—, o.e.
( ) 750 ( ) NG o5
or cosez_zoJ_er "4600, 0.e. or cosé@=awrt 0.48, awrt —0.88
or sina:”il— \éc‘)‘ﬁoo 0., or inf=awrt 0.88, awrt—0.48
Note: | sin(@—45°), cos(f+45°), sin20 must be made the subject for Al
dM1: | dependent on the first M mark
Uses the correct order of operations to find at least one value for x in either degrees or radians
Note: | dM1 can also be given for @ =180°— arcsin 2 +45° or 0= 1 180°—arcsin(éj
50 2 25
Al: Clear reasoning to achieve both 6 = awrt 61.4°, awrt 208.6° and no other values in
the range 0 < @ < 360°
Note: | Give MOMOAOMOAO for writing down any of & =awrt 61.4°, awrt 208.6° with no working
Note: | Alternative solutions: (to be marked in the same way as Alt 1):

e 5sin@—-5c0s8=2 = 5tan@-5=2secd = (5tan#—5)* = (2sech)’
= 25tan” @ —50tan &+ 25 = 4sec’ § = 25tan” §—50tan 6+ 25 = 4(1+ tan’® 6)

50++/736 25+ 2./46
42 21

— 21tan’#—-50tanf+21=0 = tand =

= 6 =awrt 61.4°, awrt 208.6° only
e 5sin@—5c0sf=2 =5-5cotd = 2cosecd = (5—5coth)? = (2cosecd)?

= 25-50c0t @ + 25c0t® 6 = 4cosec’d = 25—50cot 6 + 25cot? 6 = 4(1+ cot’6)
50++/736 _ 25+2./46
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=1.8364..., 0.5445...

— 21cot?9—50cotd+21=0 = cotf=
= 6 =awrt 61.4°, awrt 208.6° only

=1.8364..., 0.5445...




